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S EE P
By olg2y HE5
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
2B AR = 3,469,974 3,724,997 N 255,023
o2 dus 3,156,523 3,366,328 A 209,805
Y Ys HdAs 29 2,171,891 2,361,541 A 189,650
Il 23220 &4 2,035,709 2,064,459 N 28,750
201 fEt2E | 119,645 143,395 A 23,750
01 AtR 2t 2l | 119,645 143,395 N 23,750
OZMTZ HE HHAY +¢ 0% 0 4,500 ~4,500
OFMIAZ HE &AL 0% 0 1,250 A1,250
Oz =& M= 23,400 38,400 A 15,000
-LE¥ 9,000& 400 3,600 5,400 A1,800
—Z3AE 6,600& *3,000 19,800 33,000 213,200
O=HMug =& 24| 300 3,300 A 3,000
—WFHA SE2 0& 0 3,000 23,000
301 LEIEN = 26,440 31,440 A5,000
07 2 =& 0l 5,000 10,000 A5,000
O=U - 2 XHelsl S LEEADE S|
5,000, 000& 5,000 10,000 A5,000
o3 MY dFH 2Hxs" g 6,200 16,200 A 10,000
202 O Hl 0 10,000 A 10,000
04 = Ml =04 Hl 0 10,000 A 10,000
OXNYRA 24 HATA 2 HFA35| X0t
2 0& 0 10,000 A 10,000
=2 d&o3 Ast 46,720 197,620 A 150,900
201 fEt2E | 5,000 12,700 AT,700
01 At 22l bl 5,000 12,700 AT,700
O ZLIYUSF HAFRE ALY BA
=g 0& 0 2,700 A2,700
O -9 SFAR HIDAS S WA AXE
1,000,000& 52«1 5,000 10,000 A5,000
202 044 10,200 52,200 A 42,000
03 =220l 3,000 45,000 A 42,000
O =2 ot 3,000,000 x1H 3,000 45,000 A 42,000
205 2|3l H] 31,520 132,720 A 101,200
04 /& =204l 8,000 109,200 A 101,200
OHT 9228 o HR4TN BHE 2ASF
ol 8,000 109,200 A 101,200
— =A== 0 0 84,000 84,000
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SJAr2E LA St 263,960 261,865 2,095
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201 Lur2 HH| 44,035 41,140 2,895
01 At 22l bl 44,035 41,140 2,895
OEPIE-1= 24,000 20,000 4,000
— =] 50,0008 *4% +302 6,000 5,000 1,000
— gl 50,0002 %4 x902 8,000 15,000 3,000
O+HEAN BY 2,635 3,740 ~1,105
~ =7 1,445,0002 1,445 2,550 A1,105
HAd o3ny 29 0 800 800
201 Lyt HH| 0 800 800
03 & At 2 bl 0 800 800
OBAE 93D 29 i 0 800 800
oy 25 %st 720,672 742,922 £22,250
o &8 CYs 241,108 263,358 £22,250
201 et HH| 239,608 258,858 £19,250
01 AL 22l 206,290 225,540 £19,250
ORFE 2H = M= 1,590 5,300 A3,710
—EHY(HE) P4 ADE 13,0008 *501+33] 195 650 A455
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JEEE 182,346 196,604 A 14,258
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02 JIEtE 24 30,563 44,821 A 14,258
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